e ASHGEK)E MDA X2 S SHRAO0F & 240ICH
Y Y
1S S EF 2I0IEE =4IStCh
2CHH: HMZ 1/6401X EMH=E HECH
3CHH: BHUE =0 L0tLt Zel=Al AlZE M, 23] =SS0
A4S =2 JtXI D ALK BH=EHTt
58 BMS 1/401X EMH=E HECH
6EtHl: MOl 20l == 2 MNX 20U Z22l=X AlZPS M1 235 BH=8HCh
7S =€ JtXI1D 5, 6HHE BHS&HCH
HIOIE:
e CIOIEZ 1/6401X FHS HAHM 2H=S & K= 20=I ZRLCH
o CIOIEZ 1/421X SHE HH0o RHS & MItA= 19=0t 2 LCH
o CIOIEZ 1/421X SH2 HH0o RHS & MItAl= 1020t Z2CH
e == ZF¥US HHRX RIULHL
e 0o 2 97¥, FIl= 10ml, Z&= 0.99/ml0]Ct.
® =x° =292 3J|= 1.08cm30|C}.
e =Z° XS 38.1mm0l2 =0l= 15.88mm, &KX Z0l= 6.35mm, &KX FH=
1.59mmO| Ct.
e XM= XTI =0l2 75812 FIIE B = QUL

0z
12
N
=

P

ctOlH

Z2&: Lo Jtd2 SR

OICt.

|J
9
rlr
J%
10
In
=
M
o
M
8o
o
H
M
o
5
4>
0
Q
S
2
Ho



